”"I[K5® it T6. T7 Series-Double Pumps

T6. T67. T7 Series-Double pumps

) Hydraulic Sign
| i

2 1
NO. Part Qty NO. Part Qty NO. Part Qty
1 Shaft 1 6 Cir Clip For Shaft 2 11 Middle Body 1
2 Straight Key 1 7 Ball Bearing 1 12 Rear Cartridge 1
3 Hexagon Head Bolt 4 8 Cir Clip For Hole 1 13 Rectangle Seal Ring 1
4 Front Cover 1 9 Rectangle Seal Ring 1 14 Rear Cover 1
5 Shaft Seal 1 10 Front Cartridge 1 15 Hexagon Head Bolt 4
Port positions(Viewes from shaft end of pump)
00 01 02 03 04 05 06 07
PLgR? PLgb2 S-RLP2 PLaR2 2L 2L 2L PLs
(o (o (o )| (1o 0 Dz (Jo D] 1o (0 1
T7BB(S) s S-P2
T7DB(S) 08 09 10 1t 12 13 14 15
T7EB(S) 4 e £l b1 £ o o o
T67CB (O P((O (O P((O (O F2<(O P2<(O P<(O
T6CC P2 P2 s P2 S
T67DB 16 17 18 19 20 21 22 23
T6DC ol P2 o - Poa—smh o o P? jal N PO e s
T67EB o) (o] (oD (o (0 o 1) ([to D)3 (o p)s
T67EC . = | - | P
T6EC 24 25 26 27 28 29 30 31
A & P2 F F P2g-Fila al P2 al Al Pop—sk
(0 (o (o o )] o )| o )| (o D dheo
P2 P2 P2 P
00 01 02 03 04 05 06 07
Pi-P2 Pi-P2 S-P1-P2 Pi-P2 Pi Pi Pi P1-S
T7DD(S) ( s s(
@) (O n)s (|(O (O (O (O (O (O N)r
T7ED(S) ( i F
T7EE(S) k 2
T7ED s 0% 2 ;! e b 2 2
igE[E) (o ]) ko (o Ds{do s (1o N= (do D (deo |) {0
P2 P2 S P2 S

-14-



Model Designation

T6, T7 Series-Double Pumps

TéCC S w -025 -017 -1 R 02 -C 1 10
Vice . .
. Type Flow-shaft end Flow-cover end Shaft - Port  Design Sealing Port
Series Type Rotation . . :
Code Code Pump pump type positions number  Level  dimensions
00, 01
B02, B03. B04, B05 P
s DUSs BUSs DUy oo B03, BO4. BO5. B06. See
T78B g?g‘ %0175‘ BO8. B10. ' g7 Bos. B10. Bi2. Bi5 installation
N dimensions
00, 01
B14. B17. B20. B22 > Uy
v DI/ DUy Becy goo B03, BO4. BO5. B0G. M1 See
T7DB r\éo: USE ggg‘ Eig‘ B31. B35, ' gg7. Bos. B10. B12. Bi5 installation
ISO 3019 N dimensions
Installation
Flange B14, B17, B20, B22. | g4y py7. B20. B22. B24.
T7DD B24, B28, B31. B35, | poc’ pai’ pas’ Bas. B4o
NO | B38. B42 » B3ty Bdo, BB,
S: USE .
SAE C 042, 045, 050, 052,
T7EB | J744 054, 057, 062, 066, ggi‘ %o(% ?301% %?152‘ Bg‘fg
installation 072. 085 > N S S
flange
042, 045, 050, 052
s IO T oes B14. B17. B20, B22. B24,
T7ED 059, 007, 062, 066, Bpg_ Bai. B35, B3B. B42 B
042, 045, 050, 052
o Widk Hiolk Ui 042, 045, 050, 052, 054
T7EE 054, 057, 062, 066, SO A 0 T
075, 085 057, 062, 066, 072, 085
003/B03, 005/B05, 006/
B06. 008/B08. 010810, | gy pog Bo4. BOS. BOG.
T67CB 012/B12, 014/B14, 017/ g~ Foes T 0 00
B17. 020/B20., 022/B22, ~ BUS. BID. Bles Viewes
025/B25, 028/B28, 031/B31 from shaft
003/B03, 005/B05, 006/ | 003/BO3, 005/B05, 006/B06. end of 00, 01,
B06, 008/B08, 010/B10, | 008/B08, 010/B10. 012/B12. pump 10. 11. See
T6CC 012/B12, 014/B14, 017/ | 014/B14, 017/B17. 020/B20, e
B17, 020/B20, 022/B22, | 022/B22, 025/B25, 028/B28, R- 1-81, ";? gaation
itri imensions
025/B25, 028/B28, 031/B31  031/B31 See | right N%E Nitrile
Bl 0B 2 o e 0"
T67DB 031/B31. 035/B35. 038/ ggi* BB%%‘ BB%‘ g?g‘ g?g‘ shaft | clockwise | |\ 0w 5-85,
B38. 042/B42, 045/B45, ~ BUS, BI0. bz, Fluororubber
050/B50, 061 L-
- d’:‘}g{ri al 003/B03, 005/B05. 006/B06. left
oo B14, B17. B20. B22, 008/B08, 010/B10, 012/B12, hand for
Te7bc WP B24, B28, B31, B35, | 014/B14, 017/B17, 020/B20. counter—
M: truck B38, B42 g?gg? 025/B25, 028/B28, clockwise
type
" 003/B03. 005/B05, 006/B06, 00. 01.
P:truck | 07 | 014, 017, 020, 024, 008/B08. 010/B10, 012/B12, M1 See
T6DC | type e‘;’“’y 028, 031, 035, 038, 014/B14, 017/B17, 020/B20, incallat
double || S ' 042, 045, 050, 061 022/B22. 025/B25. 028/B28. installation
seal kits selwyz§t 031/B31 dimensions
042, 045, 050, 052
S: truck o U WDl Wi, B02. B03. B04, BO05. B0,
T67EB tSype, se ggg 062, 066. 072 | gy7. Bog, B10. B12. B15
AE SAE
C J744 003/B03. 005/B05, 006/B06,
installation 042, 045, 050, 052, 008/B08. 010/B10, 012/B12,
T6EC | flange 057, 062, 066, 072, 014/B14, 017/B17, 020/B20,
085 022/B22, 025/B25, 028/B28,
031/B31
003/B03. 005/B05, 006/B06. _
042, 045, 050, 052, 008/B08. 010/B10, 012/B12,
T67EC 057, 062, 066, 072, 014/B14, 017/B17. 020/B20,
085 022/B22, 025/B25, 028/B28,
031/B31
014/B14, 017/B17, 020/
042, 045, 050, 052, B20, 024/B24, 028/B28.
T6ED 057, 062, 066, 072, 031/B31, 035/B35, 038/
085 B38, 042/B42, 045/B45,
050/B50., 061
042, 045, 050, 052
v I TN BOes 042, 045, 050, 052, 057,
T6EE 82; 062, 066, 072, 062. 066. 072. 085

003/B03:In displacement code, 0 means single steering valve plate structure, B means the two steering valve plate structure.
The data of relevant series ,model are unanimous.Please see T6 series—single pumps data

-15-



”"l[l(f@ mEEE T6 Series-Double Pumps

Installation Dimensions

T6CC T6DC

E 381 38.1

F | 1016 1143

L1 Al Al Al G | 2656 | 286.0

> - [—> ik | | 882 | 1095

L2-tew J1 | 101.60 | 127.00

T6CC ‘ G o : B J2 | 101.55 | 126.95

i - | e oo

1 ‘ . .

T6EC g [:D e b oP | 143 | 175
T6ED s

Y T6EC T6ED

Q Q4 E 523 523

N\ F | 1185 | 1335

\ -C1\ —C1 C1 G | 331.6 | 361.0

T T T | | 1367 | 148.2

J1i 1 127.00 @ 127.00
J2 | 126.95  126.95

N 181.0 181.0
O 213.0 213.0
oP | 175 17.5

I T6EE T6EES
E 42.9 42.9

D1 F| 167.3 167.3
G| 406.8 406.8

B I 157.9 157.9

J1| 250.00 165.10

J2 | 249.93 165.05

N 224.5x224.5 224.5x224.5
O 273x273 273x273
oP 20.6 20.6

\J

Install Dimensions(mm)

Oil port Flange
A1 B1 ®C1 D1 T1 Thread
P1 1" FO08 26.2 52.4 25.4 76.2 3/8"-16UNCx19.0
01&11: 3/4" FO06 22.2 47.6 19.0 76.2

T6CC P2 00&10: 1" FO08 26.2 52.4 25.4 74.7 3/8-16UNCX19.0
10&11: 2-1/2" F20 50.8 88.9 63.5 84.1 1/2"-13UNCx23.9

S 00&01: 3" F24 61.9 106.4 76.2 841 5/8"-11UNCx28.4
5 00&01: 1-1/4" F10 30.2 58.7 31.8 82.6 7/16"-14UNCx22.3

M1: 1-1/4" F10 30.2 58.7 31.8 82.6 M12x22.3
01: 3/4" F06 22.2 47.6 19.0 74.7
TeDC P2 00: 1" F08 26.2 52.4 25.4 74.7 3/8"-1BUNCX19.0
M1: 3/4" F06 22.2 47.6 19.0 74.7 M10x19
00&01: 3" F24 61.9 106.4 76.2 88.9 5/8"-11UNCx28.4
S M1: 3" F24 61.9 106.4 76.2 88.9 M16x29

P1 1-1/2" F12 35.7 69.9 38.1 98.6 1/2"-13UNCx23.4
T6EC P2 1" FO8 26.2 52.4 25.4 74.7 3/8"-16UNCx19.0
S 3-1/2" F28 69.9 120.7 88.9 102.4 5/8"-11UNCx29.5
P1 1-1/2" F12 35.7 69.9 38.1 98.6 1/2"-13UNCx23.4
T6ED P2 1-1/4" F10 30.2 58.7 31.8 82.6 7/16"-14UNCx24.0
S| 4" F32 77.8 130.2 101.6 102.4 5/8"-11UNCx30.0

P1 1-1/2" F12 35.7 69.9 38.1 139.7 1/2"-13UNCx30
T6EE(S) P2 1-1/2" F12 35.7 69.9 371 98.6 1/2"-13UNCx23.4

S 4" F32 77.8 130.2 101.6 115 5/8"-11UNCx30

-16-



T6. T7 Series-Double Pumps

Installation Dimensions

T7BB T7BBS T67CB

E 381 | 381 | 38.1
F | 101.6  101.6 1016
G | 2622  262.2 | 265.6
| 882 | 882 882
T7BB(S) L1> qu -t Al - fl J1 1 100.00 | 101.60 | 101.60
et s -
T7EB(S) Fy C Q B O | 1745 1745 | 1745
T67CB ] i | OP| 140 | 143 | 143
T67DB 3 (o | EI
T67EB 5 ‘ T7DB T7DBS T67DB
38.1 | 381 | 381

286.0 | 286.0 @ 286.0
109.5 109.5 109.5

J1 1 125.00 | 127.00 | 127.00
J2 1 124.94 | 126.95 | 126.95

N  180.0 181.0 181.0
O | 2124 | 2124 2124
®P 18.0 175 175

E
F 1143 1143 1143
G
|

T7EB T7EBS T67EB
E | 523 523 523
F | 118.5 118.5 | 118.5
G
|

331.6 331.6 331.6
136.7 | 136.7 | 136.7

J1 1125.00 127.00127.00
J2 1124.94 126.95/126.95

N | 180.0 | 181.0 181.0
O | 213.0 213.0 213.0
OP 18.0 17.5 17.5

Install Dimensions(mm)

Oil port Flange
A1 B1 ®C1 D1 T1 Thread
01: 3/4" F06 222 47.6 19.0 76.2
P1 3/8"-16UNCx19.0
00: 1" Fo8 26.2 52.4 25.4 76.2
T7BB(S)
P2 3/4" F06 22.2 47.6 19.0 76.2 3/8"-16UNCx19.0
S 2-1/2" F20 50.8 88.9 63.5 84.1 1/2"-13UNCx23.9
P1 01:1-1/4" F10 30.2 58.7 31.8 82.6 7/16"-14UNCx22.3
M1: 1-1/4" F10 30.2 58.7 31.8 82.6 M12x22.3
01: 3/4" F06 22.2 47.6 19.0 74.7
3/8"-16UNCx19.0
T7DB(S) P2 00: 1" FO8 26.2 52.4 25.4 74.7
M1: 3/4" F06 222 47.6 19.0 74.7 M10x19
S 3" F24 61.9 106.4 76.2 88.9 5/8"-11UNCx29
M1: 3" F24 61.9 106.4 76.2 88.9 M16x29
P1 1-1/2" F12 35.7 69.9 38.1 98.6 1/2"-13UNCx23.4
T7EB(S) P2 3/4" Fo6 22.2 47.6 19.0 74.7 3/8"-16UNCx19.0
S 3-1/2" F28 69.9 120.7 88.9 102.4 5/8"-11UNCx29.5
P1 1" Fo8 26.2 52.4 25.4 76.2 3/8"-16UNCx19.0
T67CB P2 3/4" Fo6 22.2 47.6 19.0 76.2 3/8"-16UNCx19.0
S 2-1/2" F20 50.8 88.9 63.5 84.1 1/2"-13UNCx23.9
P1 1-1/4" F10 30.2 58.7 31.8 82.6 7/16"-14UNCx22.3
T67DB P2 3/4" FO6 22.2 47.6 19.0 76.2 3/8"-16UNCx19.0
S 3" F24 61.9 106.4 76.2 88.9 5/8"-11UNCx24.0
P1 1-1/2" F12 35.7 69.9 38.1 98.6 1/2"-13UNCx23.4
T67EB P2 3/4" F06 22.2 47.6 19.0 74.7 3/8"-16UNCx19.0
S 3-1/2" F28 69.9 120.7 88.9 102.4 5/8"-11UNCx24.0

-17-



”"l[l(f@ mEEE T6. T7 Series-Double Pumps

Installation Dimensions

T7DD T7DDS T67DC

L1 Al A1 A1
T7DD(S) PLLNS4 - " SAM E | 383 383 38.1
T7ED(S) L2+ o [oinr [airs [ 260
T7EE(S) I i _ C Q I | 134.2  134.2 109.5
T67DC . | J1 [125.000/ 127.00 | 127.00

J2 [124.937 126.95 | 126.95
180.0 181.0 | 181.0
O | 2130 | 213.0 | 2124

T67EC

J1-J2
B1
z

! Q o4 OP| 140 | 143 | 175
e\ —C1 \ o1 || T7ED T7EDS|T67EC]
“T1 T T4 523 523 52.3

361.0 | 361.0 | 331.6

148.2  148.2  136.7

J1 1125.00/127.00 127.00

(0] J2 [124.94 126.95|126.95
N | 180.0 | 181.0 181.0
O | 213.0 | 213.0  213.0
®P | 18.0 17.5 17.5

E
F  133.5 133.5 118.5
G
|

T7EE T7EES
D1 E 42.9 42.9
B F 167.3 167.3
G 406.8 406.8
I 157.9 157.9

J1 | 250.00 165.10

J2 | 249.93 165.05

G N |224.5x224.5 224.5x224.5

[ > O | 273x273 | 273x273

oP|  20.6 20.6

Install Dimensions(mm)

Oil port Flange
A1 B1 ocC1 D1 T1 Thread
P1 1-1/4" F10 30.2 58.7 31.8 101.6 7/16"-14UNCx22.3
T7DD(S) P2 1-1/4" F10 30.2 58.7 31.8 101.6 7/16"-14UNCx24
S 4" F32 77.8 130.2 101.6 114.9 5/8"-11UNCx30
P1 1-1/2" F12 35.7 69.9 37.1 98.6 1/2"-13UNCx23.4
T7ED(S) P2 1-1/4" F10 30.2 58.7 31.8 101.6 7/16"-14UNCx24
S 4" F32 77.8 130.2 101.6 102.4 5/8"-11UNCx30
P1 1-1/2" F12 35.7 69.9 38.1 139.7 1/2"-13UNCx30
T7EE(S) P2 1-1/2" F12 35.7 69.9 371 98.6 1/2"-13UNCx23.4
S 4" F32 77.8 130.2 101.6 115 5/8"-11UNCx30
P1 1-1/4" F10 30.2 58.7 31.8 82.6 7/16"-14UNCx22.3
T67DC P2 1" FO08 26.2 52.4 25.4 74.7 3/8"-16UNCx19.0
S 3" F24 61.9 106.4 76.2 88.9 5/8"-11UNCx28.5
P1 1-1/2" F12 35.7 69.9 371 98.6 1/2"-13UNCx23.4
T67EC P2 1" F08 26.2 52.4 25.4 74.7 3/8"-16UNCx19.0
S 3-1/2" F28 69.9 120.7 88.9 102.4 5/8"-11UNCx29.5

-18-



T6. T7 Series-Double Pumps

Installation Dimensions

L1 L1
- > - L
L2 —e—> <
K1xK2 —J_
B N |
AN
- @ y ¥ -
E (- DIA |
a i 7
)
H1 w1
Shaft extension
Model Shaft code Ma("Ntﬁ:;'“e L1 L2 DIA K1xK2 HA1 M1
T7BB 5 [ 70.0 40.0 25.006/24.993 8.00x7.00 28.22 -
1 238 58.2 31.7 22.225/22.200 4.76x4.71 24.53 -
T7BBS 2 357 71.4 38.1 25.400/25.370 6.35x6.30 28.22 M8x16
3 [ ] 40.7 24.5 SAE J498b class1, Diametral pitch 16/32, 13T -
4 [} 455 24.5 SAE J498b class1, Diametral pitch 16/32, 15T -
T7DB 5 ([ 87.9 50.0 32.018/32.002 10.00x8.00 35.0 M10x20
1 [ J 83.6 49.3 31.75/31.70 7.94x7.89 35.27 M10x20
T7DBS 2 [} 73.2 38.1 31.75/31.70 7.94x7.89 35.27 -
3 [ ] 55.2 38.0 SAE J498b class1, Diametral pitch 12/24, 14T -
4 [ ] 77.7 48.02 SAE J498b class1, Diametral pitch 12/24, 14T -
T7DD 5 ([ 68.0 50.0 31.018/32.002 10.00x8.00 35.0 M10x20
1 [ J 84.0 49.3 31.75/31.70 7.94x7.89 35.27 M10x20
T7DDS 2 (] 91.0 50.8 38.10/38.05 9.52x9.47 40.36 M10x20
3 (] 56.0 38.0 SAE J498b class1, Diametral pitch 12/24, 14T -
4 [} 46.0 24.5 SAE J498b class1, Diametral pitch 16/32, 15T -
T7EB. T7ED 5 ([ 90.0 50.0 38.018/38.002 10.00x8.00 41.3 M10x20
1 ([ 90.9 50.8 38.10/38.05 9.52x9.47 42.36 M10x20
T7EBS. T7EDS 2 (] 61.9 38.1 31.75/31.70 .7.94x7.89_) 35.27 -
3 ([} 55.9 38.1 SAE J498b class1, Diametral pitch 12/24, 14T -
4 ([ J 62.2 31.5 SAE J498b class1, Diametral pitch 12/24, 17T -
T7EE 2 [ 92.0 63.0 45.000/44.975 14.00x9.00 48.5 M12x24
1 (] 90.9 63.5 38.100/38.075 9.52x9.47 42.36 M10x20
T7EES 3 ([ J 62.2 31.5 SAE J498b class1, Diametral pitch 12/24, 17T -
4 ([ J 75.0 48.8 SAE J498b class1, Diametral pitch 8/16, 13T -
1 238 58.2 31.7 22.225/22.200 4.76x4.71 24.53 -
2 357 714 38.1 25.400/25.370 6.35x6.30 28.22 M8x16
T67CB. T6CC . ;
3 545 45.5 24.5 SAE J498b class1, Diametral pitch 16/32, 15T -
5 343 40.7 24.5 SAE J498b class1, Diametral pitch 16/32, 13T -
1 721 83.6 49.3 31.750/31.700 7.94x7.89 35.27 M10x20
2 577 73.2 38.1 31.750/31.700 7.94x7.89 35.27 -
T67DBT‘6527DC‘ 3 ° 552 | 380 | SAE J498bclass, Diametral pitch 12/24, 14T -
4 [ ] 77.7 48.0 SAE J498b class1, Diametral pitch 12/24, 14T -
5 [ J 83.4 60.0 34.900/34.875 7.94x7.89 38.42 M8x16
1 [} 90.9 50.8 38.100/38.050 9.52x9.47 42.36 M10x20
T67EB. T67EC. 2 577 61.9 38.1 31.750/31.700 7.94x7.89 35.27 -
T6EC. T6ED 3 () 55.7 38.0 SAE J498b class1, Diametral pitch 12/24, 14T -
4 [ J 62.2 31.5 SAE J498bclass1, Diametral pitch 12/24, 17T -

® work at maximum flow and pressure.

-19-



MNuick

TeéDCC (LWY)]
. Type
Series Code
T67DBB
T67DCB
TeDCC
NO:
industrial
type
M: truck
type
T67DDB
S: truck
type
use SAE
SAEC
J744
installation
flange
TeDDC
T67EDB
T6EDC

BLSERFBIE

® VICKS HYDRAULIC

-042

Flow-shaft end
Pump

014/B14,
020/B20,
028/B28.
035/B35,
042/B42,
050/B50,

014/B14,
020/B20.
028/B28.
035/B35,
042/B42,
050/B50,

014/B14,
020/B20.
028/B28.
035/B35,
042/B42,
050/B50,

014/B14,
020/B20,
028/B28,
035/B35,
042/B42,
050/B50,

014/B14,
020/B20,
028/B28.
035/B35,
042/B42.

017/B17,
024/B24,
031/B31.
038/B38,
045/B45,
061

017/B17,
024/B24.
031/B31,
038/B38,
045/B45,
061

017/B17,
024/B24.
031/B31.
038/B38,
045/B45,
061

017/B17,
024/B24,
031/B31,
038/B38,
045/B45,
061

017/B17,
024/B24,
031/B31,
038/B38,
045/B45,

-017

Flow-mid
pump

B02, B03. B 04,
B05, B06. B07,
B08. B 10, B12,
B15

003/B03. 005/B05,
006/B06. 008/B08.
010/B10, 012/B12,
014/B14, 017/B17,
020/B20, 022/B22,
025/B25, 028/B28.
031/B31

003/B03. 005/B05.
006/B06. 008/B08.
010/B10, 012/B12,
014/B14, 017/B17,
020/B20. 022/B22,
025/B25, 028/B28.
031/B31

050/B50, 061

042, 045, 050,
052, 057, 062,
066, 072, 085

042, 045, 050,
052, 057, 062,
066, 072, 085

014/B14.
020/B20.
028/B28.
035/B35.
042/B42.
050/B50.

014/B14,
020/B20.
028/B28.
035/B35.
042/B42,
050/B50.

017/B17,
024/B24.
031/B31.
038/B38.
045/B45.
061

017/B17,
024/B24.
031/B31.
038/B38.
045/B45.
061

014/B14, 017/B17,
020/B20, 024/B24,
028/B28, 031/B31,
035/B35, 038/B38.
042/B42, 045/B45,
050/B50, 061

014/B14, 017/B17,
020/B20, 024/B24,
028/B28, 031/B31,
035/B35, 038/B38.
042/B42, 045/B45,
050/B50, 061

P2

P1

-010

Flow-cover
end pump

B02,
B05,
B08,
B15

B03. B 04,
B06. BO7.
B 10, B12,

B02,
B05.
B08.
B15

B03. B 04,
B06. BO7.
B 10, B12,

003/B03. 005/B05.
006/B06. 008/B08.
010/B10. 012/B12,
014/B14, 017/B17,
020/B20. 022/B22,
025/B25. 028/B28.
031/B31

B02, B03. B04.
B05. B06. B0O7.
B08. B 10, B12,
B15

003/B03. 005/B05.
006/B06. 008/B08.
010/B10. 012/B12,
014/B14, 017/B17,
020/B20. 022/B22,
025/B25. 028/B28.
031/B31

B02, B03. B04.
B05, B06. B0O7.
B08. B 10, B12,
B15

003/B03. 005/B05.
006/B06. 008/B08.
010/B10, 012/B12,
014/B14, 017/B17,
020/B20, 022/B22,
025/B25, 028/B28.
031/B31

T6 Series-Treble Pumps

Hydraulic Sign

pg P2 P1
\
S
-1 R 02 -A 1 01
Shaft . Port | Design Sealing Port
Rotation e . .
type positions number Level dimensions
NO
00, 01,
Viewes See .
from shaft installation
end of dimensions
pump
R- 1-81,
See | right hand see N%E{b’;g:"e
size for picture A NO
of shaft| clockwise = below 5-55,
- Fluororubber
left hand
for 00, 01,
counter— See
clockwise installation
dimensions
NO
00, 01,
See
installation
dimensions

003/B03:In displacement code, 0 means single steering valve plate structure, B means the two steering valve plate structure.
The data of relevant series ,model are unanimous.Please see T6 series—single pumps data

-20-



Port positions(Viewes from shaft end of pump)

T67DBB(S)
T67DCB(S)
T6DCC
T67DDBS
T6DDC
T6EDB(S)
T6EDC

T6 Series-Treble Pumps

00 01 02 03 04 05 06 07
PI-P2-P3 P1-P2-P3 S-P1-P2-P3 P1-P2-P3 Pt Pt Pt =]
(0 (0 1s| |[to]| |s Ko o1y [0 [ro (0 e

S 5-P2eP3

08 09 10 " 2 13 14 15
Pi-S [ 21 P1-P2 P1-P2 P1-P3 pi P1-P3
(o | [ (ors| [to] RO (0 1gls 0o | [wo
P2-P3 P2-P3 5-P3 P2-F3

16 17 18 19 20 21 22 23
$-P1-P2 $-P1-P2 $-P1-P2 $-P1-P3 $-P1-P3 $-P1-P3 P1-P2 pi
(O B m (O N [(e) (O Nr (O n2 §(O (O WA (O N s

L L

24 25 26 27 28 29 30 31

) Pl Pt PI=P3 P1-§ PL-S Pi-§ PL-§
(O ¥ 1O s 1o 13 [(O (O N rmn §(O (O Uws (0

L L T

S S $-P2 P3 P3 P2 P2

32 33 34 35 36 37 38 39
P1-S P1-S P1-P2 PI-P2 P1-P2 P1-P2 P1-P2 P1-P2

3 (O N r2fr2 J(O N p3 (O 1 s|s I(O (O K33 (O 3 H(O N s|s B(O N s
7 iz S S

40 4 42 43 44 45 46 47
P1-P3 P1-P3 P1-P3 P1-P3 P1-P3 P1-P3 p1 pi
(O s{s H(O (O 1 r2fe2 J(O s J(O N rfez B(O s (O W s H(O N5,

173 ] S S 2

48 49 50 51 52 53 54 55

Py pi Py pi Py pi Py pi
(O N &l H(O WGl H(O (O ez B(O (O N ef5, (O N rsf3, H(O

21 S-F2 5-P2 S-P3 5-P3 [z

36 57 38 59 60 61 62 63

Py pi Py pi pi pi ] pi

5 H(O B e2f3s H(O 3 (O N sz (O N s|pa H(O N r2fs B(O N r2fez J(O N p3[s B(O N #s

64 65 66 67 68 69 70 n

pi pi Py pi p3a P Pl oy pi pi

2 f{O 2 (O 2 f{O 2 f(O (O (O (O (O

S S S P \ S S-P2 5-P2 s-p2_ '3 P3 "5-p2

72 73 74 75 76 78 79
" 3] pt Pt pt p3 o Pi=P2 PI-P2 o Pi-P2 Pi-P2
(O Hr| |(O Wkl |(O Xk |(O Mk |(O (O (O (O

s s S L S S s P PS

80 81 82 83 84 85 86 87

pi Pl py py p1 3. P1 Pl o py pi
y N

» MO | NO | [LNO | [HO S{(O ¥ [{e) s 1{O si(o
V. .Y
3 | P P | P

88 89 90 91 92 3 94 95

Pi Pi pi Py p3 PI=P2 PIP2_p3 Pi-P2 Pi-P2
y N N

s J(O Nr2fs B(O Nrzfs (O Nrs B(O N r2fs H(O s 1(O s J(O s I(O
P % 3 P

96 97 98 99 1A 1B 1C 10

[ Pi-S P1-S Pi-§ p3 o Pl=S PI=S o3 Pi-§ =]
N (o) r2 §(O N (o) r J(O (O (O (O (O
4 e P2 P2 P23 | PR

1E 1F 16 1H 1 1K 1L M
P1-S pI-S Pi-S PI-§ p3 PI=s=P2 P1=S-P2 s P1-S-P2 P1-§-P2
(O ke |(O e |(O Mkl |(ONXrf |(O (O (O (O

P < 3 P.

N 1P 1R 1S 1T 1U 1V 1w

'Pi pt pi pi 3o P Pl py pi Pt
2 (O sz (O slez (O slez (O s (O s (O 5 (O *s (O s
P P2 P2 P2_ P | PR

1X 1Y 17 2A 28 20 2E
’ Py py Py py p3 o PI=P2 PI-P2_p3 P1-P2 P1-P2
(O 15 (O 15 (ol I (O 15 (O s (O s (O 5 (O ¥

P. 3 P

21-



MuICKS . ==
Installation Dimensions

J1=J2

T6 Series-Treble Pumps

TeDCC
T67DCB
L1 E F ! Q T67DBB
T | E 38.1
L2 | F 138.0
KI1xXK2 . e ¥ G 404.0
Q H
= %5 = [ 119.3
¢f—" | . J1 127.00
o : * J2 126.95
F_ Jr N 181.0
= = a____fé 0 212.4
‘ oP 17.5
G Q 84.4
Shaft extension
Model Shaft code Ma("Ntﬁ:;‘“e L1 L2 DIA K1xK2 H1 M1
1 721 83.6 49.3 31.750/31.700 6.35x6.30 34.6 -
T6DCC 2 1108 89.7 50.8 38.100/38.075 9.52x9.47 42.4 -
T67DBB
T67DCB 3 [ ] 55.2 38.0 SAE J498b class1, Diametral pitch 12/24, 14T -
4 [ J 61.0 31.5 SAE J498b class1, Diametral pitch 12/24, 17T -
TeDCC 6 [ ] 76.0 48.0 SAE J498b class1, Diametral pitch 12/24, 14T -
@ work at maximum flow and pressure.
Install Dimensions(mm)
Oil port Flange
A1 B1 oC1 D1 T1 Thread
P1 1-1/4" F10 30.2 58.7 31.8 82.6 7/16"-14UNCx22.3
T67DBB P2 1" Fo8 26.2 52.4 25.4 101.6 3/8"-16UNCx19.0
T67DCB P3 3/4" F06 22.2 47.6 19.0 74.7 3/8"-16UNCx19.0
S 4" F32 77.8 130.2 101.6 127 5/8"-11UNCx30.0
P1 1-1/4" F10 30.2 58.7 31.8 82.6 7/16"-14UNCx22.3
P2 1" FO8 26.2 52.4 25.4 101.6 3/8"-16UNCx19.0
TeDCC 01: 3/4" F06 22.2 47.6 19.0 74.7
P3 3/8"-16UNCx19.0
00: 1" FO8 26.2 52.4 25.4 74.7
S 4" F32 77.8 130.2 101.6 127 5/8"-11UNCx30.0

22



T6 Series-Treble Pumps

Installation Dimensions

LI ] Al A Al
12 ] &l
o o o @
C1 Cc1 C1 C1
T T1 T1 ~T
0
- L1 E F | ; Q TeDDC
. N g REE i T67DDB(S)
N1 ) | E 38.1
F 138.0
T G 404.0
- I 119.3
: = J1 127.00
F QI J2 | 12695
[ N 181.0
: o 212.4
oP 17.5
Q 84.4
G
Shaft extension
Model = Shaft code Ma:‘N“r"':f'”e L1 L2 DIA K1xK2 H1 M1
1 686 84.0 49.3 31.750/31.700 7.94x7.89 35.27 M10x20
2 1148 91.0 50.8 38.100/38.075 9.52x9.47 42.36 M10x20
TeDDC
T67DDB(S) 5 883 84.0 60.0 34.900/34.850 7.94x7.89 38.42 M10x20
3 971 56.0 38.0 SAE J498b class1, Diametral pitch 12/24, 14T -
4 [ J 46.0 315 SAE J498b class1, Diametral pitch 12/24, 17T -
@ work at maximum flow and pressure.
Install Dimensions(mm)
Oil port Flange
A1 B1 oC1 D1 T1 Thread
P1 1-1/4" F10 30.2 58.7 31.8 82.6 7/16"=14UNCx22.3
P2 1-1/4" F10 30.2 58.7 31.8 101.6 7/16"-14UNCx24.0
T67DDB(S)
P3 3/4" Fo6 22.2 47.6 19.0 74.7 3/8"-16UNCx19.0
S 4" F32 77.8 130.2 101.6 115.0 5/8"-11UNCx30.0
P1 1-1/4" F10 30.2 58.7 31.8 82.6 7/16"-14UNCx22.3
P2 1-1/4" F10 30.2 58.7 31.8 101.6 7/16"=14UNCx24.0
T6DDC 01: 3/4" Fo6 222 47.6 19.0 74.7
P3 3/8"-16UNCx19.0
00: 1" FO8 26.2 52.4 25.4 74.7
S 4" F32 77.8 130.2 101.6 115.0 5/8"-11UNCx30.0

23-



”"I[K5® mENAs T6 Series-Treble Pumps

Installation Dimensions

Al
T6EDC
E| 429
F| 1333
_ G| 4680
m | | 1484
J1
Yo 250n8
oON 315.0
1 c o 2730
i T1 oOP 220
Q| 1200
ot e, F : . Qo T6EDCS
TT T67EDB
L2 E| 428
—_— T F| 1333
Ny = _ e — G | 468.0
| ] o =11 N = | | 148.4
— DI
< P 4 J1 165.10
EI:_{ S H J2 | 165.05
= Va ON 315.0
' O | 2730
P oOP 220
i G - Q 1200
Shaft extension
Model Shaft code M":‘N“r’;;‘“e L1 L2 DIA K1xK2 H1 M1
T67EDB, T6EDC.
T6EDCS 1 ® 92.0 63.0 45h7 14h7x9 485 M12x24
TEEDCS [ ] 100.0 63.5 44.45/44.40 11.11x11.06 49.3 1/2-UNCx24
[ J 75.0 48.8 SAE J498b class1, Diametral pitch 8/16, 13T -
@ work at maximum flow and pressure.
Install Dimensions(mm)
Oil port Flange
A1 B1 »C1 D1 T1 Thread
P1 1-1/2" F12 35.7 69.9 371 139.7 1/2"-13UNCx30.0
P2 1-1/4" F10 30.2 58.7 31.8 101.6 7/16"-14UNCx24.0
T67EDB
P3 3/4" FO6 22.2 47.6 19.0 74.7 3/8"-16UNCx19.0
S 4" F32 77.8 130.2 101.6 115.0 5/8"-11UNCx30.0
P1 1-1/2" F12 35.7 69.9 37.1 139.7 1/2"-13UNCx30.0
P2 1-1/4" F10 30.2 58.7 31.8 101.6 7/16"-14UNCx24.0
T6EDC
01: 3/4" F06 22.2 47.6 19.0 74.7
T6EDCS P3 3/8"-16UNCx19.0
00: 1" FO8 26.2 52.4 25.4 74.7
S 4" F32 77.8 130.2 101.6 115.0 5/8"-11UNCx30.0

24-



T6GC. T7GB. T6GCC, T67GCB. T7GBB
Series-pin Vane Pumps

T6GC. T7GB Series-single pumps

The high pressure and high perfromance pin type vane pump is applicable to engineering machinery, especially to mobile

machinery.

The main features:
1.The improved bearing structure and rectangle spline shaft design can be driven by motor or gearbox directly.
2.Double shaft seal structure, is fit for bad situations of mobile machinery.
3.Adopt insert structure, the cartridge kit of T6C and T7B can be interchangeable completely, very convenient for repair.

T6GC. T7GB Series- single pumps

Model Designation

T6GC
Series
B3,
B10,
T6GC B20.
B31
B02.
T7GB | BO06.
B12,

-B10 -6 R 00

Flow code Shaft type Rotation Outlet Positions

B05. B06. B08,
B12, B14, B17,
B22, B25. B28,

Viewes from
shaft end of (Viewed from shaft end of
pump pump)
See size of R-right hand for, 00-Opposite inlet port
shaft clockwise 01=Inline with inlet
B03. B04. B05. L- left hand 02-90 ° CCW from inlet
B07, B08, B10, for counter— 03-90 ° CW from inlet
B15 clockwise

B03: B means the two steering valve plate structure
The data of relevant series, model are unanimous. Please see T6 series—single pumps data

Hydraulic Sign

-A

Design
number

P

1

Sealing
Level

1-81,
NBR Nitrile
rubber

5-S5,
Fluororubber

01

Port dimensions

00: Flange 1"BSPP
01: Flange SAE 4
bolts(UNC)
See installation
dimensions

5.



B SERTRE

VICKS HYDRAULIC

MNuicks.

Installation Dimensions

T6GC. T7GB

80

4-014

T6GC, T7GB Series-single pumps

D1

Mounting torque 159N.m

4-T1
Code 00
=
Oil port
01: 1"
P
T6GC .
T7GB 00: 1"BSPP
S 1-1/2"

-26-

2155
i 82.6 2 55
| 11.9
/ | I | .
T 3x30
3 \\
s
K‘ /7
N S T
9.0 K
Shaft code 6
(DIN 5462)B8x32x36
Drain hole between two shaft seals
B1 B1 4-T1
1.8
0
195 -0.1
0
382 -0.15
36.8
Install Dimensions(mm)
Flange
A1 B1 oC1 D1 T1 Thread
FO8 26.2 52.4 25.4 76.2 3/8"-16UNCx19.0
- - - 1"BSPP 79.5 -
F12 35.7 69.9 38.1 76.2 1/2"-13UNCx22.4



T6GCC. T67GCB. T7GBB Series-Double pumps

T6GCC. T67GCB. T7GBB Series-Double pumps

Hydraulic Sign

P2 P1
S
Model Designation
T6GCC -B25 -B17 -6 R 02 -B 1 10
. Flow-shaft end Flow-cover end . Port Design Sealing Port
SIEES Pump Pump Shaft type  Rotation Positions number Level dimensions
B03. BO5, BO6., | BO3. B0O5. B06.
B08. B10. B12, | B08. B10. B12.
T6GCC | B14, B17, B20. | B14, B17. B20.
B22, B25, B28, | B22., B25. B28. )
B31 B31 Viewes from
shaft end of 1-S1,
B03. BO5. B06. B02. B0O3. BO4 pump NBR Nitrile
B08. B10. B12, BO ) * * | Seesize of | Rright hand bb 00, 01, 10, 11,
5. BO6. BO7 ee size o right han rubber . )
T67GCB B14. B17. B20 S S S . see below B See installation
N s > B08. B10. B12. shaft for clockwise dimensions
B22, B25. B28. B15 L-left hand 5-85,
B31 for counter— Fluororubber
B02. BO3, BO4, B02. B0O3. B04. clockwise
BO5. B06. B07. K BO5. B06. BO7.
T7GBB | Bog. B10. B12.  BO8. B10. B12.
B15 B15
B03: B means the two steering valve plate structure
The data of relevant series, model are unanimous. Please see T6 series—single pumps data
Port positions(Viewes from shaft end of pump)
00 03 04 05 06 07
P1-P2 P1-P2 S-P1-P2 P1-P2 Pl P1 ] P1-S
TeGCC (O (O s (O s (O (O 0p (O m H(O (O A,
T7GBB - -
T67GCB 08 09 10 1 12 13 14 15
P1-§ P1-§ P1 P1 P1 P1 Pl P1
(O 2 f{O (O sipz (O s (O r2[s B{O r2[s (O p2 J(O
" " 5 P2 5
16 17 18 19 20 2 22 23
P1 2 P1 P1 p2, P P1 < 2 P1 Pl P2, Pl
(O (O (O (O (O s (O X s (O 1s (O 1 s
p, N p. N
S S 2 P S S 2 P
4 25 26 27 28 29 30 3
PI-S _py P1-§ P1-§ pg , PI=S P1 < 2 P1 Pl P2, Pl
(o (o (o (o s 1O s §(O s 1(O s (O
2 P2 2 P

27-



MuIcKs. === T6GCC. T67GCB. T7GBB Series-Double pumps

Installation Dimensions

T6GCC. T67GCB. T7GBB

319.1

101.6 92 55

|
‘ \ 19
I
I
I
I

I 3x30°

@80 -0.05

/ 20 4
Mounting torque 159N.m &
- Shaft code 6
(DIN 5462)B8x32x36
Mounting torque 61N.m Drain hole between two shaft seals
4-T1
B1 B1 B1
_37.85,
0
= O T I
= I

0
@82 -0.15

/ w 368

Install Dimensions(mm)

Oil port Flange
A1 B1 oC1 D1 T1 Thread
P1 1" Fo8 26.2 52.4 25.4 76.2 3/8"-16UNCx19.0
01&11: 3/4" Fo6 222 47.6 19.0 76.2
T6GCC po 3/8"-16UNCx19.0
T67GCB 00&10: 1" Fo8 26.2 52.4 25.4 74.7
T7GBB
10&11: 2-1/2" F20 50.8 88.9 63.5 84.1 1/2"-13UNCx23.9
S
00801: 3" F24 61.9 106.4 76.2 84.1 5/8"-11UNCx28.4

-28-



	14
	Page 1

	15
	Page 1

	16
	Page 1

	17
	Page 1

	18
	Page 1

	19
	Page 1

	20
	Page 1

	21
	Page 1

	22
	Page 1

	23
	Page 1

	24
	Page 1

	25
	Page 1

	26
	Page 1

	27
	Page 1

	28
	Page 1


